

Modelagem de Sistemas Dinâmicos

Lucas Nigro Matheo - 10772911

$$\textcircled{1} \quad 2\ddot{x} + 7\dot{x} + 3x = 0 \quad ; \quad x(0) = x_0 \quad ; \quad \dot{x}(0) = 0$$

(Laplace

$$2(s^2 X(s) - s(x(0))) + 7(sX(s) - \dot{x}(0)) + 3X(s) = 0$$

$$(2s^2 + 7s + 3)X(s) = (2s + 7)x_0$$

$$X(s) = \frac{2s + 7}{2s^2 + 7s + 3} x_0 \quad \begin{array}{l} \nearrow s_1 = (-7 + 5)/4 = -\frac{1}{2} \\ \searrow s_2 = (-7 - 5)/2 = -3 \end{array}$$

$$X(s) = \frac{(2s + 7)x_0}{2(s + 3)(s + \frac{1}{2})} = \left[\frac{A}{s + 3} + \frac{B}{s + \frac{1}{2}} \right] \frac{x_0}{2} = \left[\frac{A(2s + 1) + B(2s + 3)}{(s + 3)(2s + 1)} \right] \frac{x_0}{2}$$

$$2A + B = 2 \quad \Rightarrow \quad A = -2/5$$

$$A + 3B = 7 \quad \Rightarrow \quad B = 12/5$$

$$X(s) = -\frac{x_0}{5(s + 3)} + \frac{6x_0}{5(s + \frac{1}{2})}$$

$$\mathcal{L}^{-1} \left\{ \frac{1}{s - a} \right\} = e^{at}$$

$$x(t) = -\frac{x_0}{5} e^{-3t} + \frac{6}{5} x_0 e^{-t/2}$$